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THIRD SEMESTER B.Com. DEGREE EXAMINATION, NOVEMBER 2013
(U.G-CCSS)

Commerce—Core Course
BC 3B 04—CORPORATE ACCOUNTING
Time : Three Hours - Maximum : 30 Weightage
Part A

This part consists of three bunches of questions carrying equal weightage of 1.
Each bunch consists of four odjective type questions.
Answer all guestions.

I. 1. Share apphicationisa:

(a) Real afe. (b) Nominal afc.
o~
(€ Impersonal ak. (@ Personal aid,””
2. Reserve which is not disclosed by the balance sheet is called :
(a) Capital Reserve. (b) Specific Reserve.
e ic) SecretReserve. . d General Reserve.
3. Rebate on bills discounted is : | |
(a) An earned income. (b) An item of income.
(e) A lLiability., (d) Income received in advance.
4. Accounting standard for Amalgamation is :
(a) AS8. (b) AS 20.
(c) AS14__— (d) AS3.

(1 weightage)
II. K up the blanks : g

5. thdMMﬁammmmmmmWhmw‘
ﬁkeinﬂncm?lnyisclﬂd

6. Provisidn for Taxation is debited to account.

7. The Life Insurance Revenue account does not disclose the —— of the business.

8. hhmwmm'hichdomumm;nm&ew&km
to the business is called ———. . -

L]

(1 weightage)

Tura evep

l
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III. Answer in one word :
9. What is the excess amount received over the face value of shares ?
10. Minimum amount of capital fixed by the directors to be raised from the members by way of
subscription is known as :
11. Company’s debenture purchased by the Co : itself for investment is called :

12. What is the value obtained by dividing net asset available to equity shareholders by the no. of
equity shares ?
(1 weightage)

Part B

Answer all questions.
Each question carries a weightage of 1.

PL7/V% a5 9/ 2L

13. What do you mean by I.P.O. ?
14. What is Reserve Capital ?
15. What do you mean by dividend ?
16. What 1s statutory reserve ?
What ar'e non-bankmg assets ?
( . What is life assurance fund ?
19. Explain loss assets: s it
20. Explain Double Insurapce.
21. What do you mean by contingent liability ?

(9 x 1 = 9 weightage)
Part C
Answer any five questions.
? Each question carries a weightage of 2.
22. X Ltd. issued a prospectus offering 10,000 Equity Shares of Rs. 20 each at Rs. 22 per share
payable as follows : s
On application Rs. 4
On allotment ‘ Rs. 5 (including premium)
On first call | Rs. ® |
~ On final call ' Re.7

Rs. 22
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On first call being made all the shareholders except one holding 300 shares duly paid the
amounts. These 300 shares were forfeited. Subsequently 200 of these shares were reissued
(credited as Rs. 13 paid) for Rs. 10 per share and the amount due being duly received show
the entries in the Journal and Cash Book.

23. Journalise the following in the books of A Ltd.
(a) Issued 1,000 9% Debentures of Rs. 100 each repayable at par.
(b) Issued 1,000 9% Debentures of Rs. 100 each at Rs. 95 repayable at par.
(¢c) Issued 1,000 9% Debentures of Rs. 100 each at Rs. 110 each repayable at par
(d) Issued 1,000 9% Debentures of Rs. 100 each at Rs. 95 repayable at Rs. 110.

24. X Ltd. has a part of its share capital in 1,000 Redeemable preference shares of Rs. 100 each.

The shares have now become due for redemption. The Co. had a reserve fund of Rs. 75,000.

000 out ¢f which has been decided to be utilised inconnection with to redemption.

The balance being met out of fresh issue of sufficient number of equity shares of Rs. %0 each
fully paid. You aré requested to give journal entries to record the above transactions.

25. The following is the Balance Sheet of Weak Co. Ltd. as on 31.142012: *

Liabilities Rs. i Assets Rs.
1,00,000 Equity Shares Land 1,00,000
. OofRs.10each e 10,00,000 Plant and Machinery 2,30,000
Sundry Creditors A,73,000  Furniture . 63,000
Stock .. 150,000
' Debtors 70,000
Cash 5,000
Pand L Alc .. 550,000
711,73,000 © 11,73,000

The approval of the Court was obtained for the following scheme internal reconstructwon *
(a) The equity shares to be reduced to Rs. 4 per share.
(b) Plant and Machinery to be written down to Rs. 1,50,000.
() Stock to be revalued at Rs. 1,40,000.
(d) The Provision for doubtful debts to be created Rs. 2,000.
(e) Land to be revalued at Rs. 1,42,000.
.. Pass Journal entries to give gffect to the above urh{ments.

—
et
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ing data and show
26. / Calculate rebate on bills discounted as on 31°t March 2012, from the following
Jjournal entries :

Date of Bill Amount Period Date of Discount
Rs. |
1.  10.1.2012 25,000 5 months 8%
2.  5.2.2012 15,000 4 months %
3. 20.2.2012 20,000 4 months - 7%
4. 15.3.2012 30,000 3 months 9%

27. A Life Insurance Company gets its valuation made once in every two years. Its Life Assurance
Fund on 31* December 2012 amounted to Rs. 80,00,000 before providing Rs. 80,000 for the

. shareholders dividend for the year 2012. Its.actuarial valuation done on 318 December 2012
disclosed a net liability of Rs. 76,00,000 under assurance annuity contracts, on interim bonus

of Rs. 1,00,000 was paid to the policy holder, during the two years endmg 315t December
2012. ,

Prepare a statement showing the amount now avaxlable as bonus to policy holders
28. Pass the necessary journal entries :

- (a) A claim of Rs. 2,00,000 was mtxmated end adrmtted but not pald durlng the year.
W (b) A claim of Rs. 40,000 outstanding in the books for 5 ‘years written back.
(c) Premmm of Rs. 1,00,000 is payable under remsurance
(d) Reinsurance recoveries Rs. 3,00,000.
(e) Bonus utilised in reducpon of premlum Rs. 80,000.
(f) Agents’ commission to bs paid Rs. 7,000. o

(5x2=10 weightage)
. Part D

Answer any two qQuestions,
Each. question carries a weightage of 4.

29. The following are the Ledger Balances of X Ltd. as on 31 March 2012 ;

Debit o Rs. Credit A Rs
Buildings v o 8072000 EquityCapital .. 4000000
Plant / « 33,00000  12% Debenture “w  30,00,000
ok - “'1,50,000 P”andLAlc 3,63.500
Debtors « 870,000 Bills payable °8,70,000
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Debit Rs. Credit I
Goodwill 2,50,000 Creditors 4,00,000
Bank Balance 4,06,500 Sales,” b 41,50,000
Calls in Arrear 75,000 General Reserve 2,50,000
terim Dividend 3,92,600 Bad debts pmvi_z:inn 35,000
M:xrchases 18,50,000 - '
Preliminary Expenses ... 60,000
Wages 9,79,800
Salaries 2,02,250
Office Expenses - 68,350
Bad debts 21,100
Debenture interest 1,80,000 .
- 1 ,24,67,500 1,24,67,500
Additional Information v
(a) Closing stock Rs. 9,50, 000
(b) Depreciate plant by 16%.
; ¢ (¢) Write off preliminary expenses Rs. 5,000. |
—is (d) Provide for half year's debenture intérest.
g (e) Maintain a prov1snon for doubtful debts at 5%
(f) Provide for Taxation Rs. 1,80,000. /
Prepare Final accounts.
30. From the following information prepare the Profit and Los Account of the Thrifty Bank for
the year ended 31 March 2012 :
) Interest on Loans 518
Interest on Cash Credits v 45
Discount on bills discounted ' 890
Interest on overdraft - ; S | 108
Interest on Savmgs bank deposxu= ~ . 220 '
| Interest on Fixed deposits - , . | 64
CommssmnExchangeandBmkem e | e BT Y S
Rant.'ruuandhghtins o = 36 .
Auditors’ fees . 7 - - . ) 24
Postage and Telephones | 0y ' 28
: Tura over
;
‘ . / . ‘
L : ' , \ i . ’
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Sundry charges
Advertisement

Directors' fees

Printing and Stationery

Law charges

Pavment to Employees

Lockers Rent

Transfer fees

Depreciation on Bank's property
Other information : Rebate on bills discounted Rs. 98,000 and provide for doubtful 'debts

Rs. 58,000,
31.

K

D 51458
Rs. ‘000’

2

1.4

6
0.4
14
108
0.7
1.4
10

A Ltd. acquired the undertaking of B Ltd. on 31.3.2012 for a purchase consideration of

Rs. 2,50,000 to be paid by fully paid equity shares of Rs. 10 each. The Balance Sheet of the
two Companies on the date of acquisition were as follows :

Share Capital : Equity
shares of Rs. 10 each
fully paid up

General Reserve

Profit and Loss A/c

Development Rebate
Reserve

Workmens’
Compensation Fund

Current Liabilities

B Ltd.
Rs.

A Ltd.
Rs.

.. 2,60,000 1,560,000

.. 1,20,000 18,000
10,000 53,000
10,000 37,000
15,000 24,000
45,000 95,000

4,60,000 3,77,000

ALtd. B Ltd.

Land and Buildings ...1;20,000 80,000
Plant and Machinery ...2,00,000 1,80,000
Furniture and Fixtures ... 10,000 20,000
Stock 55,000 40,000
Debtors 45,000 40,000
Bank Be_\lance 20,000 17,000

4,560,000 3,77,000

R

Pass nécessary journal entries in the books of A Ltd. when the amalgamation is in the nature
of merger. Also prepare the Balance Sheet of A Ltd. assuming the Development Rebate Reserve
and Workmen'’s Compensation Fund of B are required to be continued in the books of A Ltd.
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(2 x 4 = 8 weightage)



